1 2 3 4 6
El  #6-32 1/4" flat H36 Handle, 1.25" E3  #4-403/16"flat  E25  #4-40 3/16" flat
\ | |
E2  #6-32 1/4" flat H37 Handle, 1.25" E4  #4-403/16" flat  E26  #4-40 3/16" flat
\ | |
Ul Mouser E5  #4-403/16"flat  E27  #4-40 3/16" flat
12dB 13 534-9106 \ | |
2 = H30  #4-40 pan, 3/16" H38 Ferrul E6  #4-403/16" flat ~ E28  #4-40 3/16" flat
" ~c ) DIRECT an crmule | i i
IN . Cl I % N female H31  #4-40 pan, 3/16" H39 Ferrule ‘E7 #4-40 3/16" ﬂTt ‘E29 #4-40 3/16" ﬂTt
N female [ ] v McMaster-Carr H40 Ferrule E8  #4-403/16"flat  E30  #4-40 3/16" flat
RF coupler A3 GND 90272A105 \ | |
Mini-Circuits SMA male-male H32  #4 lock washer H41 Ferrule E9 #4-40 3/16" flat E31  #4-40 3/16" flat
GND 7X30-12-4-S+ U2 Digi-Key | \ | \ |
501-1253-ND N H33  #4 lock washer Mouser EI0  #4-403/16" flat  E32  #4-40 3/16" flat
14 534-9121 \ | |
-1dB 1 o 1 o 3 o) OUT 3X McMaster-Carr M1 #6-32 1/4" flat Ell  #4-403/16" flat  E33  #4-40 3/16" flat
91113A005 \ | \ |
-3dB o +18dB N female M2 #6-32 1/4" flat El2  #-403/16"flat E34 #4-403/16" flat
) \ | |
RF lowpass filter RF bandpass filter U6 M3 #6-32 1/4" flat EI3  #4-403/16" flat  E35  #4-40 3/16" flat
Mini-Crcuits Lark Engineering RF amplifer GND \ | \ |
SLP-30+ MC27.3-H1-3BA Mini-Circuits M4 #6-32 1/4" flat El4 #4-403/16" flat  E36  #4-40 3/16" flat
GND  ZFL-500HLNB+ \ | |
CAl SMA cable 10" M5 #6-32 1/4" flat ‘EIS #4-40 3/16" ﬂTt ‘537 #4-40 3/16" ﬂTt
L 1
Cl Digi-Key M6 #6-32 1/4" flat EI6  #4-403/16" flat  E38  #4-40 3/16" flat
10n 744-1428-ND \ | |
1 CA2 SMA cable 6" McMaster-Carr E17 #4-403/16" flat ~ E39  #4-40 3/16" flat
Al 91099A205 \ | \ |
SMA tee ] [ 1 w1 Digi-Key M7 #6-323/8" flat EI8  #4-403/16"flat  E40  #4-40 3/16" flat
Digi-Key A2 A4 744-1376-ND \ | \ |
ACX1433-ND SMA male-male SMA male-male CA3 SMA cable 10" M8  #6-32 3/8" flat E19  #4-403/16" flat  E41  #4-40 3/16" flat
U3 Digi-Key Digi-Key | \ | \ |
501-1253-ND 501-1253-ND N Digi-Key M9 #6-32 3/8" flat E20 #4-403/16" flat ~ E42  #4-40 3/16" flat
J5 744-1428-ND \ | |
1 [\ o 1 D o C4 o) OUT 15X CA4 SMA cable 6 MI0  #6-32 3/8" flat ‘E21 #4-40 3/16 ﬂTt ‘E43 #4-40 3/16 ﬂTt
-6dB +22dB © +43dB N female Digi-Key McMaster-Carr E22  #4-403/16"flat E44  #4-40 3/16" flat
) 744-1376-ND 91099A215 \ | |
RF bandpass filter u7 E23  #4-403/16" flat ~ E45  #4-40 3/16" flat
Lark Engineering RF amplifer RF amplifer GND \ | \ |
MC137.5-H3-3BA Mini-Circuits Mini-Circuits E24  #4-403/16" flat ~ E46  #4-40 3/16" flat
ZFL-500LNB+ GND ZFL-500HLNB+ \ | \ |
PN1
L 1 L 1 Cable, 1 pair, shiclded
C3 Mouser LED
10n 566-9501-100 ""
U8
V1 cables Low Noise Power )
J LIGO L1
1 —o\ HI H9 H16 H24 D0901846-D
14 o
. 2 ) 27 #6-32 pan, lock washer, 5/16"  #6-32 pan, lock washer, 5/16"  #4-40 pan, lock washer, 1/4" #4-40 pan, lock washer, 1/4"
RF modules need to be mounted on mounting plate. 5 — H2 H10 H17 H25 e @ @ @ = 1
—3 _O—O 26 =%} Ay =% =%} =%} -
. s 16 #6-32 lock washer, 5/16"  #6-32 pan, lock washer, 5/16"  #4-40 pan, lock washer, 1/4"  #4-40 pan, lock washer, 1/4" [ [ U9
Cables C1 to C4 are flexible semi-rigid RG405. 4 1T—0° RS Hup e, foek Washen e col J< J< J< Snap-in LED
Cables require SMA connectors on both ends. Red dot marks R/A connector. 7 1° o Digi-Key
5 L o #6-32 pan, lock washer, 5/16"  #6-32 pan, lock washer, 5/16"  #4-40 pan, lock washer, 1/4" #4-40 pan, lock washer, 1/4" LED Vi 350-2127-ND
. . . 18 H4 HI2 H19 H27
Cables V1 are twisted pair and soldered to the amplifier. 5 1 _O_O
Solder 10nF across each power terminal. 19 o #6-32 pan, lock washer, 5/16"  #6-32 pan, lock washer, 5/16"  #4-40 pan, lock washer, 1/4"  #4-40 pan, lock washer, 1/4"
7 ) HS HI3 H20 McMaster-Carr
. 20 93405A106 \ | \
L= claen W1 ale an alc -32 pan, lock washer, -32 pan, lock washer, -40 pan, lock washer,
C1/C3: L=10", Belden 1671 A with SMA Male and SMA Mal 8 1 o © #6-32 pan, lock washer, 5/16"  #6-32 pan, lock washer, 5/16"  #4-40 pan, lock washer, 1/4" PN2 PN4
C2/C4: 1L=6", Belden 1671 A with SMA Male and SMA Male —2; —O H6 Hl4 H21 H28 H34 LIIJGC(‘;"SS‘S Ei‘g‘épa“el
22 O o #6-32 pan, lock washer, 5/16"  #6-32 pan, lock washer, 5/16"  #4-40 pan, lock washer, 1/4" #2-56 pan, lock washer, 1/4" #2 washer D1001098-v1 D1300990-v1
For OK/GND use a twisted pair and solder it to pins 7/20 on the D-sub and _;g l o H7 H15 H22 H29 H35 | o
to the back side of U3 at testpomts TP14 and TP1 0: reSPeCthel}’- 11 ) #6-32 pan, lock washer, 5/16"  #6-32 pan, lock washer, 5/16"  #4-40 pan, lock washer, 1/4" #2-56 pan, lock washer, 1/4" #2 washer PN3 PN5S
24 McMaster-Carr McMaster-Carr H23 McMaster-Carr Mounting Plate Rear Panel
215 ) 93405A145 93405A145 90126A501 LIGO LIGO
25 o #4-40 pan, lock washer, 1/4" D1300992-v1 D1300991-v1
B 145 HS
_—— Title . . . .
D Connector 25 Serewlock kit RF Diplexer High-Gain Amplifier
Digi-Key
A32020-ND Size Number Revision
B D1300989
Date: 1/15/2014 [ Sheet 1of 1
File: D:\Users\..\RFDiplexerAmplifierl.SchDdcDrawn By: Daniel Sigg

6




